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SN-F-B--2 Ol & &1 = 0fl ot o Bl =2
ES Al 3,321,687 3,282,794 38,893
HME&sH 3,321,687 3,282,794 38,893
200 Mel=+=¢ 397,500 485,500 A 88,000
210 ZHE AN Q= 397,100 470,100 273,000
212 Al EZ2 ¢ 397,000 400,000 A3,000
212-09 JIEtME = 397,000 400,000 A 3,000
OMSAE MEBZE 370,000
OREUSHE AEZ 5,000
OLteILIAIZE(HRE) AMEE 22,000
216 Ol Rh==& 100 100 0
216-01 S S0 S0l Xt == 100 100 0
OZZHZ0IT +¢ 100
220 SAIE A= 400 15,400 A 15,000
224 J|Et==2 400 400 0
224-07 12l ¢ 400 400 0
OBBYOINC (SR, AIB)ZM ZolE X3 400
500 Ex32 2,924,187 2,797,294 126,893
510 = 12X 3S 2,454,652 2,400,362 54,290
511 =218x3S 2,454,652 2,400,362 54,290
511-01 212X 3 12,000 12,000 0
OMQUMALE IST2IHAY 29 12,000
511-02 2 ELHELEIHEXS 540,000 300,000 240,000
OMZEBANMSIY ZHEY &3 240,000
OYHZ MEAT =SAL Ha 150,000
OgolA2Z=0t3 == A4 FH| 150,000
511-03 213 1,902,652 2,088,362 A 185,710
O #=ls SSASHE A (FUMSLE Z4) 400,000
Ous ME0C BUSHE AY(2LHSLE T4)
1,000,000
OZZHSAL W2ANL(OISDLESSE, Loiz2 0
SHH, doldUNsS2) 216,000
oYt MEUSUEK BIX (NK) 115,872
o024 MEHSITI BIX(XE) 115,872
OAZ=2ZH0I2d X 18,698
OFOMNOl MEHSXTI BIXI(XE) 36,210
520 Al - EHIBEZ=S 469,535 396,932 72,603
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521 Al - SHIBXZ2E 469,535 396,932

521-01 Al - SHIE X3S 469,535 396,932
OMEBHRIY 2¢ 6,048
OMdexsZz)d 29 2,937
OA2Z=2ZH0I282d X 2,404
Ot MBUHSHAM HIt X 4,000
OZO MBSOl 2 9,146
OANZ XNE 2220|8 S48 N (SLHSE ) 25,000
OZXAtH =22 EHS 20,000

Oudl MES0C BUSHE AY(IAHSLE T4)

300,000
OMZ si=lis SBUSHE A (FUASHE F4) 100,000




